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Using the formula K= °C + 273, convert the Kelvxn temperature
back to Celsius.

°C= 321 - 273 = 48°C

Samgle Problem .2. The _pressure of a tank of gas is 2.0 atmospheres
and its temperature" .is '40°C. Assuming that the volume remains
conistant, what will be the pressure if the’ temperature is lowered
to 20°¢c2

Solution Using the correction factor method, we reason that when
temperature decreases, pressure decreases. The correction factor
should be a fraction with a value less than 1.

2.0 atm X 293 K bt
/I" 3 313 K = 1.9 atm
origiﬁ&f 3 A correction final pressure
‘pressure: . factor less than 1, e R less. than . -
) converted -to original pressui
kelvins

PRACTICE PROBLEMS

Using either the formula relating temperature and pressure or
factor m'thod, solvevthe follow1ng problems Assume

3. A-tank of'gas has a pressure of 2.75 atm at 3.
20°C. What will be the new pressure if its
temperature is .increased to 100°C?
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4, A flask of gas is sealed at 1.00 atm of 4.
pressure and 25°C. What will be the pressure
of .the. confined gas. ifthe. frask.is cooled
to 0°C? =
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A tank of gas is leled to a pressure of 5.00
»atm at 75°C. At-what temperature w111 its
pressure become 3.50:atm?

¥

6. If a confined gas has a pressure of 700 mm Hg 6.
at 10°C,. what will be its temperature whgn the
-pressure is 1ncreased to 740 .mm Hg? 8

7. The temperature of ‘a tank of gas whose pres- i 2
sure-is 650 mm Hg is changed from 27°C to-
127°C. What will be the new pressure?
2
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